THIOEE HERBEERHASHRAS UBRELRARS —FRER)

FFFRI—T [HBIE] D1-4-2-3 @ 1-3-2-4 (@ 1-2:3-4

Al)—5 (11%2) Bl —4J (RZF8H)

3T FEHR |ERER ERRBES BB | = | B BEg | \BTH | /BT B-Bx [ = | IEfZ
T 3 - 0([3 - 03 -0|3 -0 1 2kic) 3 - 23 -1 - 2 -0 1
ZE®E |0 - 3 1 - 3[1 - 3|0 - 3 4 J\Bfi |2 - 3 3 - 1 - 1 -1 2
ERESR| 0 - 3|3 - 0 - 3|1 - 2 3 J\BBT [1 - 3|1 - 3 - 0 - 2 3
ER#LE| 0 - 3[3 - 1|3 -0 2 - 1 2 - - - -
Cl)—J(RZXI8K) D!)—4 ' (RZXF44R)

FEiE | BEI | REN| 28 | B8 | F |IBE BHER | KFE | &EJSL | sRdt | B-RR| E | IER
EiE 0 - 3|1 - 3|3 -o0|1 - 2 EER 3 - 0|3 -0[3-0[3-0 1
HWHEHI |3 -0 3 - 2(3 -103 -0 1 KE [0 - 3 3 - 2(3 - o0f2 - 1 2
ZE0 |3 - 1|2 - 3 - 1 -1 REJSL|O0O - 3|2 - 3 3 - 0|1 - 2 3
=5 |0 - 3/0 - 3 - 0 - 2 sflidt {o - 3[{o - 3[{o - 3 0 - 3 4
E—J(RAFE) FI)—5 (RZX8#R)

EWRE | EEI | A Al | BB = | B BERT | KAER | BH | BAE | BB | = | IE
ERR 3 - 0|3 - 1|3 -0[|3-0 1 REFRT 3 - 0|3 -10[3-0[3-0 1
EHRI |0 - 3 3 - 23 - 2[2 - 1 2 AKOx |0 - 3 0 - 3/0 - 3|0 - 3 4
A |1 - 3|2 - 3 - 0 - 2 3 BHE |o - 3|3 -0 1 - 3[1 - 2 3
AW (o - 3|2 - 3| dhix 0 - 2 3 BRZE|(0 - 33 - 0|3 - 1 2 - 1 2
G —J (RAF8K) H!)—4 (261#%)

Kig E JR | EwReEel B | FE | IER TR EEER /B | B | BB | = | IER
KiE - 1 - 3[3 - 2[1 -1 TR Bt 3 -0/3 -0/3-0[|3-0 1
I o i 1 - 3[1 - 3|0 - 2 EBEM 0 - 3 1 - 3[3 - 0|1 - 2 3
FR O[3 - 1|3 - 1 - 2 -0 J\t& [0 - 3|3 - 1 3 - 0|2 -1 2
ERgEE 2 - 3|3 - 1| by 1 -1 J\iB® [0 - 3|0 - 3|0 - 3 0 - 3 4
BER#BR
14 : T 2fi: SEIRA B4 EEE ERE BS8: Xz EiE B &R
BFRB—FT AV
1(A1) T —_— — ERE 9(E1)
2(7) — - 10(#)
3(A) E— — 11(H)
4(B1) i) EEE— — RERT 12(F1)
5(C1) AT 13(G1)
6(2) EE—— e 14(%)
7(x) —_— — 15(%)
8(D1) BEE —_— — WIS 16(H1)

MBI —K




FRI0EE ZEERSFFRFIAEZRKE MEREZRARI—FREER)

TFFRE)—Y

[REIE] 48— {D1-4:2-3 D1-3-2-4 1-2-3-4}
Al—T (1 Ri#R) B —J(RZXI8%)
HBEZE| E)NO|KEmEx BB [ = | IEfL B [#EEm| A\BW | Bl | B | = |IE
HEFE 3 - 1|3 - 1 2 -0 1 g 3 - 0({3 - 1|3 -0|3 -0 1
EN (1 - 3 3 - 1 1 -1 2 HEEM o0 - 3 0 - 3|0 - 3|0 - 3 4
REBEE|1 - 3|1 - 3 0 - 2 3 JABTH |1 - 3|3 -0 3 - 02 -1 2
AWl o - 3|3 - ofl0 - 3 1 -2 3
CY—J (R A1) D—T(RRL41R)
ERE | RIE KR BE | B8 | £ | B KOR |zomEs| RAXE | &8 | BB | = | ER
ERE 3 - 1|0 - 3|3 -0]2 -1 2 kOE 3 - 0] wo |1 - 3[2 -1 2
EIE |1 - 3 0 - 3|3 - 1]1 -2 3 ERPESR| 0 - 3 wo |0 - 3|1 - 2 3
*BE [3 - 0|3 -0 3 - 1|3 -0 1 BKE ow ow ow |0 - 3 4
B% |o - 3[1 - 3[1 - 3 0 -3 4 B8 [3 - 1|3 - 0| we 3 -0 1
EV—F(RZF8IR) FlI)—4'(241#%)
AE | REN | \E BEH | B || F |IBL FER |wrnsi| KiEdL | BRT | BB | R | IER
AR - 3 - 03 -1[l2 -0 1 BEiER - 1 - 3[3 - o0f1 -1
ZEI - 3 - 0|3 -2|2 -0 1 EIRES| - 3 - 1|3 -0]|2 -0
J\E |o - 3]0 - 3 2 - 3|0 - 3 4 FEL([3 - 1|1 - 3 - 1 -1
2H [1 - 3]/2 - 3|3 - 2 1 - 2 3 ERT |0 - 3|0 - 3 - 0 - 2 4
BEARBER 14 #ZEXE 261 HEE B4: KAOE B8: #EEM | RTEII ki) Al
TFREBN—F AR
1(A1) HEZE == 7(D1)
2(7) 8(™)
3(E2) 9(E1)
4(B1) o] J\BT 10(B2)
5(A) 11(xT)
6(C1) KR 12(F1)
SRR —F @ @ ® B8




